

MURCHISON FALLS ROYALE



3 day Murchison falls royale

Murchison Falls National Park was reserved for rulers and royals in its youth. Over the years, this park has remained a beloved destination abundant with alluring wildlife and astonishing views for all to experience. The River Nile surges through a narrow gap at the tip of the Great Rift Valley, forming the falls for which the park is named. Only by witnessing the Nile's most fierce and magical entrance will you truly understand why this National Park has drawn travelers from all over the globe for over a century. Join us and explore the elemental beauty of this historical park.

Safari highlights

Evening and morning game drive across the national park

Boat safari along the river Nile

Hike to a spectacular view at the top of Murchison falls



ITINERARY

Day 1: A sunset tease

In the morning we rendezvous with the driver and forge into North-Western Uganda to the historical and magnificent Murchison Falls National Park. We end the day with a brief safari into the park and

watch the sunset on the vast savanna, a teaser into tomorrow, before settling in at Fort Murchison

Lodge.

Accommodation: Fort Murchison

Meal Plan: Half-Board

Day 2: The grand adventure

Day breaks with a safari drive before the sun peaks. In the cool morning hours, a dizzying

array of birds surface while elephants, giraffes, buffalo, antelopes, and lions graze and

gallivant across the grasslands. After lunch we journey on with a rejuvenating boat cruise on

the River Nile, riding alongside hippos, crocodiles, and water birds. We close with a steady

hike to the top of the gushing Murchison Falls, crowned by mist from its turbulent waters.

The stunning views will render you at once a speck of dust on this massive, miraculous

continent, a grand adventurer.

Accommodation: Fort Murchison

Meal Plan: Full-Board

Day 3: A parting glance

Our last day is a final morning venture among the wildlife before departure: a parting glance

upon the sprawling national park, and perhaps, an invitation to return.

Meal Plan: Half-Board

Inclusive of:

All airport pick-ups and drop-offs

Park entrance fees

All activities within the itinerary

All meals and accommodation within the itinerary

All ground transportation in a luxurious 4×4 vehicle

Full-time guidance from an Englishspeaking driver/guide

Boat trips on the exhilarating River Nile

Water to keep you hydrated while on safari

A pair of Binoculars

Exclusive of

Activities not mentioned in the itinerary

Phone calls and bar bills

Personal insurance

Air fare

All other services of a personal nature

Driver guide's gratuity



COST

Luxury Murchison Falls Royale

| No. of people | Price per person (USD) | Total Price (USD) |
|---------------|------------------------|-------------------|
| 2 | 817 | 1,634 |
| 3 | 520 | 1,560 |
| 4 | 573 | 2,292 |
| 5 | 526 | 2,630 |
| 6 | 492 | 2,952 |

Mid range Murchison Falls Royale

| No. of people | Price per person (USD) | Total Price (USD) |
|---------------|------------------------|-------------------|
| 2 | 691 | 1,382 |
| 3 | 520 | 1,560 |
| 4 | 510 | 2,040 |
| 5 | 475 | 2,375 |
| 6 | 450 | 2,700 |

Terms and conditions



^{*} The mentioned rates are in US dollars and subject to change.

^{*} The high season period includes January, February, June, July, August, September and December.

^{*} The low season period includes March, April, May, October and November.

^{*} Availability of accommodation, permits and activities is not guaranteed until confirmation by your contact person at Bushman Safaris. Permits are sold on 'first come first serve' basis.

MAP











